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UIL ACCOUNTING

Regional 2001-R

Group 1

Indicate whether each of the following is debited or credited during the closing process or whether the account or item is not closed.  Write the correct answer on your answer sheet using the following code:  DR=debit  CR=credit  NC=not an item to be closed

1. Depreciation Expense



  7. the partner’s drawing account

2. Allowance for Uncollectible Accounts

  8. Income Summary (net loss)

3. Cost of Delivered Merchandise


  9. Sales

4. Purchases Returns & Allowances

10. Megan Summers, Capital

5. Accumulated Depreciation—Equipment
11. Sales Discounts

6. Transportation In




12. Merchandise Inventory

Group 2

A business began in 1997.  In questions 13 through 17, determine the correct column or columns of the work sheet for the year ended December 31, 2000 in which each of the following belongs using the code:



A. Trial Balance debit

E. Income Statement debit



B. Trial Balance credit

F. Income Statement credit



C. Adjustments debit

G. Balance Sheet debit



D. Adjustments credit

H. Balance Sheet credit

Assume that all accounts have normal balances.  If an answer requires more than one choice, all responses must be correct.

13. On the line for Income Summary, the amount of increase in inventory during the 

      period.

14. Historical cost of plant assets

15. The adjusted total of estimated uncollectible accounts receivable as of 


December 31, 2000

16. On the line for Depreciation Expense, the amount of depreciation expense allocated 

       to the current accounting period

*17. The total amount of depreciation that has been recorded from the time the business

      started through December 31, 1999

Group 3

For items 18 through 27, write on your answer sheet TRUE if the statements is true; write FALSE if the statement is false.

18. Liability, revenue, and capital accounts all have normal credit balances.

19. If the terms of sale are FOB shipping, the buyer pays the shipping charge from the

      supplier’s shipping point.

20. Mutual agency means the actions of one partner acting on behalf of the partnership

      are binding on all partners.

21. If the net income of a partnership is $75,000, and it is to be shared equally, each

      partner’s capital account would be increased by $75,000.

22. The special journal used to record sales of merchandise on account is called the

      Merchandise Journal.

Group 3 continued

23. Under a periodic inventory system, the cost of any merchandise lost through 

      shoplifting is automatically included in the cost of merchandise sold when a physical 

      inventory is taken, and the general ledger is adjusted accordingly. 

*24. Positive elements (those that are added) in the calculation of cost of merchandise

      sold also appear in the Income Statement Debit column of a work sheet.

*25. If purchases discounts taken were omitted from the income statement, net income

      for the period would be understated.

26. On a work sheet, a loss is indicated if the total of the Income Statement Debit

      column exceeds the total of the Income Statement Credit column.

27. After posting the entries to close all revenue accounts and all expense accounts,

      the Income summary account of a company has a $7,000 debit balance.  This

      shows that the company earned a net income of $7,000.

Group 4

The Orange Blossom Co. experienced a total loss due to an earthquake on December 20, 2000.  The off-site computer tape backup provided the following data for the month of November and for December through the 19th day.

	
	November 
	December through

 the 19th

	Net Sales
	278,960
	185,420

	Beginning Inventory
	28,470
	34,710

	Purchases
	190,324
	126,880

	Purchases Ret. & Allow.
	2,749
	1,832

	Purchases Discounts
	3,498
	1,665

	Transportation In
	3,487
	2,325

	Ending Inventory
	34,710
	                   ?


For questions 28 and 29, write the correct amount on your answer sheet.

28. What is the gross profit rate for November?

29. Using the gross profit rate for November, calculate the estimated ending inventory

      destroyed by the earthquake.

Group 5

One of the items sold at Accessories Plus is a line of baseball caps.  The following shows the beginning inventory and purchases information for the year.  During the year 335 caps were sold for $18 each and 425 caps were sold for $20 each.  The company uses a periodic inventory system.

	
	
	Number of

Units
	Cost per Unit
	

	
	Beginning Inventory
	110
	10.00
	

	Jan
	Purchase
	120
	10.00
	

	Mar
	Purchase
	150
	11.00
	

	Apr
	Purchase
	200
	11.00
	

	Jun
	Purchase
	70
	12.00
	

	Jul
	Purchase
	90
	13.00
	

	Aug
	Purchase
	160
	15.00
	

	Oct
	Purchase
	100
	16.00
	

	
	
	
	
	


For questions 30 through 42, write the correct amount on your answer sheet.  (Note Questions #36, #39, and #42 each have one asterisk.)

	FIFO
	
	Units
	
	Amount

	Available for Sale
	#30
	
	#33
	

	Ending Inventory
	#31
	
	#34
	

	Cost of Merchandise Sold
	#32
	
	#35
	

	Gross Profit
	
	
	*#36
	

	
	
	
	
	

	LIFO
	
	Units
	
	Amount

	Available for Sale
	
	
	
	

	Ending Inventory
	
	
	#37
	

	Cost of Merchandise Sold
	
	
	#38
	

	Gross Profit
	
	
	*#39
	

	
	
	
	
	

	Weighted Average Cost
	
	Units
	
	Amount

	Available for Sale
	
	
	
	

	Ending Inventory
	
	
	#40
	

	Cost of Merchandise Sold
	
	
	#41
	

	Gross Profit
	
	
	*#42
	


Group 6

The following is an alphabetical listing of the normal account balances in the adjusted trial balance of a work sheet for the year ended 12-31-00.  Income Summary has a credit balance.  For questions 43 through 51, write the correct amount on your answer sheet.

	Mary’s Garden Center

For the Year Ended

December 31, 2000
	Adjusted Trial Balance
	Income Statement
	Balance Sheet

	
	
	DR
	CR
	DR
	CR

	Accounts Payable
	30,410
	
	
	
	

	Accounts Receivable
	31,500
	
	
	
	

	Accum. Depr—Equip
	25,680
	
	
	
	

	Allowance for Uncollectible Accts.
	3,150
	
	
	
	

	Bad Debts Expense
	2,860
	
	
	
	

	Cash in Bank
	15,730
	
	
	
	

	Depreciation Expense
	17,120
	
	
	
	

	Equipment
	82,450
	
	
	
	

	Income Summary
	3,460
	
	
	
	

	Insurance Expense
	6,814
	
	
	
	

	Mary Contreras, Capital
	125,606
	
	
	
	

	Mary Contreras, Drawing
	25,000
	
	
	
	

	Merchandise Inventory
	40,870
	
	
	
	

	Prepaid Insurance
	3,656
	
	
	
	

	Purchases
	106,516
	
	
	
	

	Purchases Discounts
	4,400
	
	
	
	

	Purchases Returns & Allowances
	2,830
	
	
	
	

	Rent Expense
	12,000
	
	
	
	

	Sales
	184,600
	
	
	
	

	Sales Discounts
	6,980
	
	
	
	

	Sales Returns & Allowances
	5,220
	
	
	
	

	Supplies
	5,790
	
	
	
	

	Supplies Expense
	3,180
	
	
	
	

	Transportation In
	5,890
	
	
	
	

	Utilities Expense
	8,560
	
	
	
	

	
	
	
	
	
	

	
	 
	
	
	
	

	
	
	
	
	
	


43. What is the amount of net sales?

*44. What is the amount of beginning inventory on January 1, 2000?

45. What is the cost of delivered merchandise?

46. What is the amount of net purchases?

47. What is the total cost of merchandise sold?

*48. What is the amount of net income?

*49. What is the subtotal of the income statement debit column on the work sheet before


net income is calculated?

*50. What is the subtotal of the balance sheet debit column on the work sheet before net


income is calculated?

51. What is the balancing total of the adjusted trial balance columns?

Group 7

A company’s operating figures for three successive accounting periods are shown below:

	
	Period 1
	Period 2
	Period 3

	Sales
	80,500
	85,900
	90,200

	Beginning Inventory
	8,650
	18,750
	15,100

	Net Purchases
	55,050
	53,640
	56,620

	Cost of Merchandise Available for Sale
	63,700
	72,390
	71,720

	Ending Inventory
	18,750
	15,100
	20,000

	Cost of Merchandise Sold
	44,950
	57,290
	51,720

	Gross Profit
	35,550
	28,610
	38,480


Now it has been discovered that the following errors were made in determining the ending inventory:

	Period:
	Error in Determining

Ending Inventory:

	1
	Overstated $3,350

	2
	Understated $2,400


On your answer sheet for questions 52 through 54, write the correct amount of gross profit for each period.

52. Period 1

*53. Period 2

54. Period 3

Group 8

For questions 55 through 61, write the identifying letter of the best response on your answer sheet.

55. Which of the following assets require an adjustment for depreciation at the end of


the fiscal period?




1. Store Supplies


  6. Cash in Bank




2. Accounts Receivable

  7. Computer Equipment




3. Office Equipment


  8. Petty Cash Fund




4. Land



  9. Merchandise Inventory




5. Delivery Vehicles


10. Buildings


A. 1, 3, 5, 7, 9, 10


B. 1, 3, 5, 7, 10


C. 3, 4, 5, 7, 10


D. 3, 5, 7, 10


E. all of the assets listed

Group 8 continued

56. The type of account and normal balance side of Accumulated Depreciation—


Equipment is:


A. asset; debit


C. contra asset; debit


B. expense; debit

D. contra asset; credit

57. A company purchased a piece of equipment on May 10, 2000 for $25,000.  The 


equipment has an estimated useful life of 5 years and an estimated salvage value of


 $5,800.  Using the straight-line method of calculating depreciation, the amount of 


depreciation to be recorded for the year ended December 31, 2000 is


A. $320

B. $2,560
C. $3,333
D. $3,840
E. $5,000

*58. At the end of a fiscal year, the accounts on the Post-Closing Trial Balance included


plant assets as follows:

	Asset
	Original Cost
	Accumulated Depreciation
	Fair Market Value
	Replacement Value

	Building
	350,000
	70,000
	300,000
	500,000

	Equipment
	100,000
	48,000
	75,000
	125,000

	Vehicles
	135,000
	54,000
	45,000
	150,000



What is the book value of all the plant assets at the end of the fiscal year?
 


A. $172,000

E. $585,000



B. $248,000

F. $603,000


C. $413,000

G. $775,000


D. $420,000

59. After closing entries are posted, the Depreciation Expense—Delivery Equipment 


account will have


A. a debit balance


B. a credit balance


C. either a debit or a credit balance


D. a zero balance

**60. An asset was purchased on January 1, 1998 with a cost of $40,000, a salvage value 


of $4,000 and an estimated useful life of 5 years.  The amount of $___ is the 


depreciation expense for year(s) _____ using the ______ method.  Which of the 


following is false?


A. $7,200; 1998 through 2002; straight-line


B. $8,000; 1998; double-declining balance


C. $5,760; 2000; double-declining balance


D. $1,184; 2002; double-declining balance

Group 8 continued

61. A company owns a delivery van that has a cost of $10,000.  The accumulated 


depreciation at the time of the sale of this van was $6,000.  The company received 


$4,000 for the van.  The disposal would include a debit to cash for $4,000 and


A. a credit to Delivery Vehicles for $4,000


B. a debit to Accumulated Depreciation for $6,000 and a credit to Delivery Vehicles


     for $10,000


C. a credit to Gain on Sale of Assets for $4,000


D. a debit of $6,000 to Delivery Vehicles and a credit of $10,000 to Accumulated



Depreciation

Group 9

The cash account and bank records of Doberman Co. show the following related items for 2000:

1.  The January 31 bank reconciliation indicates that deposits in transit total $20,615.  During February the general ledger account Cash shows deposits of $79,150, but printed on the February 29th bank statement were only $64,285 in deposits.

2.  The January 31 bank reconciliation also reported outstanding checks of $1,400.  During the month of February, Doberman Company’s books show that $80,485 of checks were issued, yet the bank statement dated February 29th  showed that $73,850 of checks cleared the bank during that month.

3.  In April, deposits per the bank statement totaled $58,600, deposits per

     books were $71,370, and deposits in transit on April 30 were $36,560.

4.  In April, cash disbursements per books were $69,762, checks clearing

     the bank were $69,791, and outstanding checks on April 30 were $3,697.

There were no other miscellaneous bank debits or credits, and no errors were made by either the bank or Doberman Co.  Assume that all items in transit or outstanding for one month cleared the bank in the month immediately following.

For questions 62 through 66 write the correct amount on your answer sheet.

62. What were the deposits in transit on February 29?

63. What were the outstanding checks on February 29?

*64. What were the deposits in transit on March 31?

*65. What were the outstanding checks on March 31?

*66. If the ending bank statement balance on March 31, 2000 was $68,769, what is the 

  
ending balance of Cash in Bank on April 30, 2000?

Group 10

Refer to the information in Table 1 on page 10.  It is okay to remove the table page from the staple for convenience.  For questions 67 through 74, write the identifying letter of the best response on your answer sheet.

67. The debit balance of $1,370 in the allowance account indicates that


A. the company should write-off $1,370 more in the year 2000


B. a mistake has been made as the allowance account must always have a credit



balance


C. a larger amount of actual bad debts were written-off than had been previously



estimated to be uncollectible

68. Which of the following is correct about the entry to write-off the bad debt on 


December 11, 2000?


A. Bad Debt Expense was debited $4,870


B. Allowance for Uncollectible Accounts was credited $4,870


C. Allowance for Uncollectible Accounts was debited $1,370


D. Accounts Receivable was credited for $1,370


E. None of the above are true statements.

69. Which of the following statements is false?


A. The book value of Accounts Receivable prior to the December 11 write-off



was $89,320.


B. The book value of Accounts Receivable after the December 11 write-off and



before the end-of-year adjusting entry was $89,320.


C. The balance of Accounts Receivable prior to the write-off on December 11



was $92,820.


D. The December 11 write-off caused the book value of Accounts Receivable



to decrease by $4,870.

70. Assume that the company estimates that uncollectible accounts will be 2% of 


charge sales.  Which of the following is false?


A. The debit to the expense account will be $9,250


B. The allowance account will be credited.


C. Net sales is not a factor in this calculation.


D. The ending balance of the allowance account will be $9,250 after the 



adjusting entry is posted.

*71. Assume that the company chose instead to estimate uncollectible accounts using


the aging of accounts receivable method.  What is the amount that will be debited


to the expense account using this method?


A. $1,370
B. $9,250
C. $10,450
D. $10,620
E. $11,820

Group 10 continued

*72. Using the same information as in #71, what is the book value of Accounts 


Receivable after the adjusting entry is posted?


A. $77,500
B. $78,700
C. $78,870
D. $89,320

73. Assume that the Income Statement for 2000 showed Bad Debt Expense of $4,870


and that the general ledger did not contain a contra account to Accounts 


Receivable.  Which method would have been used to determine the expense?


A. Allowance Method—Percentage of Sales


B. Direct Write-Off Method


C. Allowance Method—Aging of Accounts Receivable


D. Estimation Method

*74. Assume the company uses the direct write-off method and that in the year 2001, the 


company collects an account receivable that had been written-off in 1999.  The


following is a chart of possible entry parts.



1. Accounts Receivable debit




2. Accounts Receivable credit



3. Allowance for Uncollectible Accounts debit



4. Allowance for Uncollectible Accounts credit



5. Bad Debt Expense debit



6. Bad Debt Expense credit



7. Cash debit



8. Cash credit


Using the above chart, which of the following is the correct entry to reinstate the


Account and then record the collection?



Reinstatement
Collection

A.      no entry

     7, 4



B.         1, 6

     7, 2


C.         1, 4

     7, 2


D.         7, 4

  no entry

Group 11

A company uses three financial statements at the end of each month.  These are the balance sheet, income statement, and statement of changes in owner’s equity.  The owner’s equity section of the balance sheet only shows the ending capital amount.

For each of the items 75 through 80, indicate on which financial statement(s) the item will appear.  Write the identifying letter of the correct response on your answer sheet.


A. Balance Sheet only


B. Income Statement only


C. Statement of Changes in Owner’s Equity only


D. Balance Sheet and Statement of Changes in Owner’s Equity


E. Income Statement and Statement of Changes in Owner’s Equity

75. Accumulated Depreciation, Trucks

76. Allowance for Uncollectible Accounts

77. Capital balance on December 1, 2000

78. Net Loss

79. Bad Debts Expense

80. Capital balance on December 31, 2000

This is the end of the exam.  Please hold your answer sheet and test questions until the contest director calls for them.  Thank you.

Table 1

(for questions 67  through 74)

The following amounts reflect normal balances (unless otherwise indicated) for the year ended 12-31-00 before any end-of-year adjusting entries are posted.  Other information for 2000 is also listed.

	Net Sales
	1,050,900

	Cash Sales
	575,900

	Charge Sales
	462,500

	Accounts Receivable
	87,950

	Allowance for Uncollectible Accounts
	1,370 (debit)

	A bad debt in the amount of $4,870 was written-off on December 11, 2000.  This is the date a letter was received from the customer regarding the customer’s bankruptcy status.

	Aging of Accounts Receivable as of 12-31-00 indicates that $10,450 is estimated to be uncollectible.


